CBSE CLASS X Mathematics
Commercial Mathematics
	Two mark questions and answers
 

	Q1. Sanjay purchased a sofa set for Rs. 14,388, which includes 12% rebate on the marked price and sales tax equal to 0.75 times the rate of sales tax on the remaining price. Find the   marked price of the sofa set. 

	Ans1. Let marked price of a sofa set = Rs. x
Rebate = 12%
= (12/100) x x
= 12x/100
 Cost price of sofa set = x - (12x/100)
= [(100x - 12x)/100] = 88x/100
= 22x/25
Rate of sale tax = [12 x (75/100)] = 9%
Sales tax = 9% of (22x/25)
= (9/100) x (22x/25)
 Net cost price of sofa set = (22x/25) + (99x/1,250)
= (1,100 + 99x)/1,250
= 1199x/1,250
But, cost price of the sofa set = Rs. 14,388 
 Rs. 1199x/1,250 = Rs. 14,388
or x = Rs. (14,388 x 1,250)/1199 = Rs. 15,000
= Rs. 15,000. 

	Q2. The marked price of a video game is Rs. 1,900. If sales tax is charged at the rate of 6%, find the total cost of the watch. 

	Ans2. Marked price of a video game = Rs. 1,900
Rate of sales tax = 6%
Sales tax = 6% of Rs. 1,900
= (6/100) x 1,900
= Rs. 114
Cost price of the video game = 1,900 + 114 = Rs. 2,014
= Rs. 2,014. 

	Q3. A fan is available for Rs. 636 which include sales tax. If the printed price of the fan is Rs. 600, what is the rate of sales tax. 

	Ans3. Selling price of a fan = Rs. 636
Marked price of a fan = Rs. 600
Sales tax = Rs. 636 - Rs. 600
= Rs. 36
Rate of sales tax = (36/600) x 100
= 6%. 

	Q4. A man paid Rs. 5,500 for a refrigerator, which includes 10% sales tax. Find the sales tax paid by the man. 

	Ans4. Let marked price of a refrigerator = Rs. x
Rate of sales tax = 10%
Total sales tax = 10% of x
= (10/100) x x = 10x/100
= x/10
 Selling price of a refrigerator = x + (x/10)
= 11x/10
 11x/10 = 5,500
x = (5,500 x 10)/11
= Rs. 5,000
 Sales tax = 10% of 5,000
= (10/100) x 5,000
= Rs. 500. 

	Q5. The price of washing machine is Rs. 9,200, which includes 15% sales tax. Find the printed price of the washing machine. 

	Ans5. Let the printed price of washing machine = Rs. x
Rate of sales tax = 15%
Sales tax = 15% of x
= (15/100) x x
= Rs. 15x/100
 Selling price of washing machine = Rs.[x + (15x/100)]
 115x/100 = (9,200 x 100)/115
x = Rs. 8,000
 Printed price of washing machine = Rs. 8,000. 

	Q6. Puja purchased the following items :
2 dolls at the rate of Rs. 150 each, 2 rackets at the rate of Rs. 100 each and 2 terms at the rate of Rs. 250 each. If he gets a rebate of 4% on the total printed price and then pays 10% sales tax, find the total price paid by puja. 

	Ans6. Marked price of 1 doll = Rs. 150
Cost price of 2 dolls = Rs. 150 x 2 = Rs. 300
Cost price of 1 racket = Rs. 100
Cost price of 2 rackets = Rs. 100 x 2 = Rs. 200
Cost price of 1 jeans = Rs. 250
Cost price of 2 jeans = Rs. 250 x 2 = Rs. 500
Total price of above items = Rs. (300 + 200 + 500)
= Rs. 1,000
Rebate = 4% of Rs. 1,000
= (4/100) x 1,000
= Rs. 40
Net, cost price of items = 1,000 - 40 = 960
Rate of sales tax = 10%
sales tax = 10% of Rs. 960
= (10/100) x 960
= Rs. 96
 Net price paid by Puja for all the items = Rs. (960 + 96)
= Rs. 1,056. 

	Q7. Raju purchased a pair of shoes for Rs. 1,920, which includes 4% rebate. Find the original marked price. If he has to pay sales tax at the rate of 10%, find the new price of the shoes. 

	Ans7. Let the marked price of a pair of shoes = Rs. x
Rebate = 4% of x
= (4/100) x x
= 4x/100
= x/25
 Cost price of shoes = x - (x/25)
= 24x/25
 24x/25 = 1,920
x = (1,920 x 25)/24
x = Rs. 200
 marked price of shoes = Rs. 2,000
Rate of sales tax = 10%
 Sales tax = 10% of Rs. 1,920
= (10/100) x 1,920
= Rs. 192
 The new price of the cycle = Rs. (1,920 + 192)
= Rs. 2,112. 

	

	Four mark questions and answers 

	Q1. Sarika has a total income of Rs.1,15,000 excluding H.R.A. during the year. She pays a premium of Rs.1750 to L.I.C. annually and contributes Rs.9000 to provident fund after every six months. Calculate the income tax Sarika has to pay on her income during the financial year 1999-2000.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans1. Annual income of Sarika = Rs. 1,15,000
 Standard deduction (S.D) = 1/3 of 1,15,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
 S.D = 20,000
Amount of donations under section 88G = Nil
Taxable income = Rs. 1,15,000 - Rs. 20,000 = Rs. 95,000
Total income tax = Rs. [1,000 + {(95,000 - 60,000) x (20/100)}]
= Rs. [1,000 + 7,000]
= Rs. 8,000
Savings:
(i) Investment in LIC premium annually = Rs. 1,750
(ii) Contribution to P.F. = Rs. (9000 x 2) = Rs. 18,000
Total = Rs.(1,750 + 18,000) = Rs. 19,750
Tax rebate = 20% of total saving = 20% of Rs. 19,750
= 19,750 x (20/100) = Rs. 3,950
Income tax payable = Rs. 8,000 - Rs. 3,950
= Rs. 4,050
Surcharge = Rs. 405
Total income tax to be paid = Rs. 4,455 

	Q2. Rajneesh has a total annual income of Rs. 90,000 (excluding HRA) during the year. He pays a premium of Rs. 700 to LIC annually and deposits Rs. 500 per month towards Provident Fund. Calculate the income tax Rajneesh has to pay in the last month of the year, if his earlier deductions for 11 months for income tax are at the rate of Rs. 100 per month.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans2.  Total annual income of  Rajneesh = Rs. 90,000
Standard deduction (S.D.) = 1/3 of Rs. 90,000 or Rs. 25,000 [Which ever is less]
Since 1/3 of the total income is more than Rs. 25,000
S.D. = Rs. 25,000
Amount of donations under section 88G = Nil
Taxable income = Rs. 90,000 - Rs. 25,000 = Rs. 65,000
Total income tax = Rs. [1,000 + {(65,000 - 60,000) x (20/100)}]
= Rs. [1,000 + 1,000]
= Rs. 2,000
Savings:
(i) Investment in LIC premium annually = Rs. 700
(ii) Contribution to P.F. = Rs. (500 x 12) = Rs. 6,000
Total = Rs. (6,000 + 700) = Rs. 6,700
Tax rebate = 20% of total savings = 20% of Rs. 6,700
Tax payable = Rs. 1,340
= Rs. 1,340
Surcharge = Rs. 134
Total income tax to be paid = Rs. 1,474
Tax paid in 11 months at the rate of Rs. 100 = Rs. (11 x 100)
= Rs. 1,100
So, net income tax payable in the last month = Rs. (1,474 - 1,100) = Rs. 374 

	Q3. Ashish has a total income of Rs. 1,25,000 (excluding HRA) during the year. He pays a premium of Rs.7,000 to LIC annually and contributes Rs. 2,500 per month towards GPF. Calculate the income tax paid by Ashish in the last month if his earlier deductions for 11 months for income tax are at the rate of Rs. 400 per month.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans3. Total annual income of Ashish = Rs. 1,25,000
Standard deduction (S.D.) = 1/3 of Rs. 1,25,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = Rs. 20,000
Amount of donations under section 88G = Nil
Taxable income = Rs. 1,25,000 - Rs. 20,000 = Rs. 1,05,000
Total income tax = Rs. [1,000 + {(1,05,000 - 60,000) x (20/100)]
= Rs. [1,000 + 9,000]
= Rs. 10,000
Savings:
(i) Investment in LIC premium annually = Rs. 7,000
(ii) Contribution to P.F. = Rs = Rs. (2,500 x 12) = Rs. 30,000
Total = Rs.(7,000 + 30,000) = Rs. 37,000
Tax rebate = 20% of total savings = 20% of Rs. 37,000
= (20/100) x 37,000 = Rs. 7,400
Tax payable = Rs. 7,400
= Rs. 7,400
Surcharge = Rs. 740
Total income tax to be paid = Rs. 8,140
Tax paid in 11 months at the rate of Rs. (400 x 11)
= Rs. 4,400
So, net income tax payable in the last month = Rs. (8,140 - 4,400) = Rs. 3,740 

	Q4. Sachin has a total income of Rs.1,10,000 (excluding HRA) during the year. He pays a premium of Rs. 2,000 to LIC annually and deposits Rs. 1,000 per month towards GPF. Calculate the income tax paid by Sachin in the last month of the year, If his  earlier deductions for 11 months for income tax are at the rate of Rs. 300 per month.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans4. Total annual income of Sachin = Rs. 1,10,000
Standard deduction (S.D.) = 1/3 of 1,10,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = Rs. 20,000
Amount of donations under section 88G = Nil
Taxable income = 1,10,000 - 20,000 = Rs. 90,000
Total income tax = Rs. [1,000 + {(90,000 - 60,000) x (20/100)}]
= Rs. [1,000 + 6,000]
= Rs. 7,000
Savings:
(i) Investment in LIC premium annually = Rs. 2,000
(ii) Contribution to P.F. = Rs(1000 x 12) = Rs. 12,000
Total = Rs. (2,000 + 12,000) = Rs. 14,000
Tax rebate = 20% of total savings = 20% of Rs. 14,000
= (20/100) x 14,000 = Rs. 2,800
Income tax payable = Rs. 7,000 - Rs. 2,800
= Rs. 4,200
Surcharge = Rs. 420
Total income tax to be paid = Rs. 4,620
Tax paid in 11 months at the rate of Rs. 300 = Rs. (11 x 300)
= Rs. 3,300
So, net income tax payable in the last month = Rs. 4,620 - Rs. 3,300
= Rs. 1,320 

	Q5. Manjeet has a total income of Rs. 1,48,000 (excluding HRA) during the year. He donates Rs. 5,000 to a Charitable Trust, eligible for 50% deduction under section 80G of Income Tax Act.  He pays a premium of Rs. 18,000 to L.I.C. annually and contributes Rs. 1,000 per month towards G.P.F. Calculate the income tax paid by Manjeet in the last month of the year, if his earlier deductions for 11 months for income tax are at the rate of Rs. 500 per month.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans5. Total annual income of Manjeet = Rs. 1,48,000
Standard deduction (S.D.) = 1/3 of 1,48,000 of Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = Rs. 20,000
Amount of donations under section 80G = Rs. 5,000
So, deduction under section 80G = 50% of Rs. 5,000
= Rs. 2,500
Taxable income = Rs. 1,48,000 - Rs. 20,000 - Rs. 2,500 = Rs. 1,25,500
Total income tax = Rs. [1000 + {(1,25,500 - 60,000) x (20/100)]
= Rs. [1,000 + 13,110]
= Rs. 14,110
Savings:
(i) Investment in LIC premium annually = Rs. 18,000
(ii) Contribution to P.F. = Rs. (1,000 x 12) = Rs. 12,000
Total = Rs. (18,000 + 12,000) = Rs. 30,000
Tax rebate = 20% of total savings = 20% of Rs. 30,000
= Rs. 6,000
Income tax payable = Rs. 14,110 - Rs. 6,000
= Rs. 8,110
Surcharge = Rs. 811
Total income tax to be paid = Rs. 8,921
Tax paid in 11 months at the rate of Rs. 500 = Rs. (11 x 500)
= Rs. 5,500
So, net income tax payable in the last month = Rs. (8,921 - 5,500) = Rs. 3421 

	Q6. Ramesh has a income of Rs. 1,60,000 (without including HRA) during the year 1999-2000. During this year he pays an annual insurance premium of Rs. 7,000 and contributes Rs. 3,000 per month in his Provident Fund. Further, he invested Rs. 4,000 in National Savings Certificates. Calculate the income tax paid by Ramesh in the last month of the year, if his earlier deductions for 11 month for income tax are at the rate of Rs. 400 per month.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans6. Total annual income of Ramesh = Rs. 1,60,000
Standard deduction (S.D.) = 1/3 of 1,60,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = Rs. 20,000
Amount of donations under section 88G = Nil
Taxable income = Rs. 1,60,000 - Rs. 20,000 = Rs. 1,40,000
Total income tax = Rs. [1,000 + {(1,40,000 - 60,000) x (20/100)]
= Rs. [1,000 + 16,000]
= Rs. 17,000
Savings:
(i) Investment in LIC premium annually = Rs. 7,000
(ii) Contribution to P.F. = Rs. (3,000 x 12) = Rs. 36,000
(iii) National Savings Certificates = Rs. 4,000
Total = Rs.(7,000 + 36,000 + 4,000) = Rs. 47,000
Tax rebate = 20% of total savings = 20% of Rs. 47,000
= (20/100) x 47,000 = Rs. 9,400
Tax payable = Rs. 17,000 - Rs. 9,400
= Rs. 7,600
Surcharge = Rs. 760
Total income tax to be paid = Rs. 8,360
Tax paid in 11 months at the rate of Rs. 400 = Rs. (11 x 400)
= Rs. 4,400
So, net income tax payable in the last month = Rs. (8,360 - 4,400) = Rs. 3,960 

	Q7. Avinash has a total income of Rs. 9,500 per month (without including HRA) during the current year. His annual contribution to Provident Fund Account is Rs. 8,200 and annual premium for LIC. is 3800. He invests Rs. 5,000 in National Saving Certificates. He donates Rs. 2,000 to Prime Minister's Fund earning a relief of 100% on the donation. Calculate the income tax payable by Avinash.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans7. Total annual income of Avinash = Rs. (9,500 x 12)
= Rs. 1,14,000
Standard deduction (S.D.) = 1/3 of 1,14,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = Rs. 20,000
Amount of donations under section 88G = 2000 [P.M. relief fund]
Taxable income = Rs. (1,14,000 - 20,000 - 2000) = Rs. 92,000
Total income tax = Rs. [1,000 + {(92,000 - 60,000) x (12/100)]
= Rs. [1,000 + 6,400]
= Rs. 7,400
Savings:
(i) Investment in LIC premium annually = Rs. 3,800
(ii) Contribution to P.F. = Rs. 8,200
Total = Rs.(3,800 + 8,200) = Rs. 12,000
Tax rebate = 20% of total savings = 20% of Rs. 12,000
= Rs. (20/100) x 12,000 = Rs. 2,400
Tax payable = Rs. (7,400 - 2,400) = Rs. 5,000
Surcharge = Rs. 500
Total income tax to be paid = Rs. 5,500
So, net income tax payable in the last month = Rs. 5,500 

	Q8. Vijay has a total income of Rs. 1,30,500 (excluding HRA). during the year 1999-2000. He pays a premium of Rs. 10,800 annually towards LIC. and deposits Rs. 2,000 per month towards GPF. Rs. 400 are deducted each month from his salary as income tax. Calculate the income tax  paid by Vijay in last month of the financial year.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans8. Total annual income of Vijay = Rs. 1,30,500
Standard deduction (S.D.) = 1/3 of Rs. 1,30,500 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = Rs. 20,000
Amount of donations under section 88G = Nil
Taxable income = Rs.(1,30,500 - 20,000) = Rs. 1,10,500
Total income tax = Rs. [1,000 + {(1,10,500 - 60,000) x (20/100)}]
= Rs. [1,000 + 10,100]
= Rs. 11,100
Savings:
(i) Investment in LIC premium annually = Rs. 10,800
(ii) Contribution to P.F. = Rs.(2,000 x 12) = Rs. 24,000
Total = Rs. (10,800 + 24,000) = Rs. 34,800
Tax rebate = 20% of total savings = 20% of Rs. 34,800
= (20/100) x 34,800 = Rs. 6,960
Income tax payable = Rs. (11,100 - 6,960)
= Rs. 4,040
Surcharge = Rs. 404
Total income tax to be paid = Rs. 4,444
Tax paid in 11 months at the rate of Rs. 400 = Rs. (11 x 400)
= Rs. 4,400
So, net income tax payable in the last month = Rs. (4,444 - 4,400) = Rs. 444 

	

	Six mark questions and answers 

	Q1. Santosh has a total income of Rs. 90,000 (excluding HRA) during the year. He pays a premium of Rs. 1,000 half-yearly to LIC. and contributes Rs. 5,00 quarterly in Provident fund and donates Rs. 3,000 in the Prime Ministers relief fund eligible for 100% deduction. Calculate the income tax he has to pay.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans1. Total annual income of Santosh = Rs. 90,000
Standard deduction (S.D.) = 1/3 of Rs. 90,000 or Rs. 25,000
Since 1/3 of the total income is more than Rs. 25,000
S.D. = 25,000
Amount of donations under section 88G = 3,000
Taxable income = Rs. (90,000 - 25,000 - 3,000) = Rs. 62,000
Total income tax = Rs. [1,000 + {(62,000 - 60,000) x (20/100)}]
= Rs. [1,000 + 400]
= Rs. 1,400
Savings:
(i) Investment in LIC premium annually = Rs. (2 x 1,000) = 2,000
(ii) Contribution to P.F. = Rs (500 x 4) = Rs. 2,000
Total = Rs.(2,000 + 2,000) = Rs. 4,000
Tax rebate = 20% of total savings = 20% of Rs. 4,000
= (20/100) x 4,000 = Rs. 800
Tax payable = Rs. (1,400 - 800)
= Rs. 600
Surcharge = Rs. 60
Total income tax to be paid = Rs. 660
So, net income tax payable in the last month = Rs. 660 

	Q2. Tabish has a total income of Rs. 1,32,000 (excluding HRA) during the year. He contributes Rs. 1,000 per month in his provident fund and pays an annual premium of Rs. 5,000 to LIC. He donates Rs. 8,000 in the P.M. relief fund for Kargil martyrs eligible for 100% deduction. Calculate the income tax paid by Tabish in the last month of the year if his earlier deduction for the first 11 months for income tax were at the rate of Rs. 200 per month.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans2. Total annual income of Tabish = Rs. 1,32,000
Standard deduction (S.D.) = 1/3 of Rs. 1,32,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,00
S.D. = 20,000
Amount of donations under section 88G = Rs. 8,000 [Amount given in Kargil fund]
Taxable income = Rs.(1,32,000 - 20,000 - 8,000) = Rs. 1,04,000
Total income tax = Rs. [1,000 + {(1,04,000 - 60,000) x (20/100)}]
= Rs. [1,000 + 8,800]
= Rs. 9,800
Savings:
(i) Investment in LIC premium annually = Rs. 5,000
(ii) Contribution to P.F. = Rs (12 x 1,000) = Rs. 12,000
Total = Rs.(5,000 + 12,000) = Rs. 17,000
Tax rebate = 20% of total savings = 20% of Rs. 17,000
= Rs. (20/100) x 17,000 = Rs. 3,400
Tax payable = Rs. (9,800 - 3,400)
= Rs. 6,400
Surcharge = Rs. 640
Total income tax to be paid = Rs. 7,040
Tax paid in 11 months at the rate of Rs. 200 = Rs. (11 x 200)
= Rs. 2,200
So, net income tax payable in the last month = Rs. 7,040 - Rs. 2,200 = Rs. 4,840 

	Q3. Rajveer has a total income of Rs. 1,02,000 (excluding HRA) during the year. He pays a premium of Rs. 4,500 annually to LIC. and contributes Rs. 2,500 half-yearly to G.P.F. He has been paying Rs. 300 per month as advance tax. Find the amount of tax he is required to pay at the end of the year.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans3. Total annual income of Rajveer = Rs. 1,02,000
Standard deduction (S.D.) = 1/3 of Rs. 1,02,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = 20,000
Amount of donations under section 88G = Nil
Taxable income = Rs.(1,02,000 - 20,000) = Rs. 82,000
Total income tax = Rs. [1,000 + {(82,000 - 60,000) x (20/100)}]
= Rs. [1,000 + 4,400]
= Rs. 5,400
Savings:
(i) Investment in LIC premium annually = Rs. 4,500
(ii) Contribution to P.F. = Rs (2,500 x 2) = Rs. 5,000
Total = Rs.(4,500 + 5,000) = Rs. 9,500
Tax rebate = 20% of total savings = 20% of Rs. 9,500
= (20/100) x 9,500 = Rs. 1,900
Tax payable = Rs. (5,400 - 1,900)
= Rs. 3,500
Surcharge = Rs. 350
Total income tax to be paid = Rs. 3,850
Tax paid in 11 months at the rate of Rs. 300 = Rs. (11 x 300)
= Rs. 3,300
So, net income tax payable in the last month = Rs.(3,850 - 3,300) = Rs. 550 

	Q4. Fakir chand has a total income of Rs. 1,85,000 during the year. He contributes Rs. 4,000 per month in his provident fund and pays an annual premium of Rs. 16,000 towards his Life Insurance Policy. He also donates Rs. 4,000 to P.M.'s Relief Fund eligible for 100% deduction and Rs. 2,000 to a charitable trust eligible for 50% deduction. Calculate the income tax paid by the Fakir chand at the end of the year if his earlier deductions for first 11 months were at a rate of Rs. 500 per month.
Assume the following for calculating income tax: 
(a) Standard Deduction
1/3 of the total annual income subject to a maximum of Rs. 20,000.
Rs. 25,000 in case the annual income is less than Rs. one lakh. 
(b) Rates of Income Tax 

Slab 
Income Tax 
(i) Upto Rs. 50,000 
No Tax 
(ii) From Rs. 50,001 to Rs. 60000 
10% of the amount exceeding Rs. 50,000 
(iii) From Rs. 60,001 to Rs. 1,50,000 
Rs. 1,000 + 20% of the amount exceeding Rs. 60,000 
(iv) From Rs. 1,50,001 onwards 
Rs. 19,000 + 30% of the amount exceeding Rs. 1,50,000 
(c) Rebate in Tax
20% of the total saving subject to a maximum of Rs. 12,000. 
(d) Surcharge
10% of the net tax payable 


	Ans4. Total annual income of Fakir Chand = Rs. 1,85,000
Standard deduction (S.D.) = 1/3 of Rs. 1,85,000 or Rs. 20,000
Since 1/3 of the total income is more than Rs. 20,000
S.D. = 20,000
Amount of donations under section 88G = Rs. (4,000 + 1,000)
= Rs. 5,000
[... Fakir Chand has paid 4,000 to P.M.'s Relief fund and Rs. 2,000 paid for charitable trust (for 50% relief)]
Taxable income = Rs. (1,85,000 - 20,000 - 5,000) = Rs. 1,60,000
Total income tax = Rs. [19,000 + {(1,60,000 - 1,50,000) x (30/100)}]
= Rs. [19,000 + 3,000]
= Rs.  22,000
Savings:
(i) Investment in LIC premium annually = Rs. 16,000
(ii) Contribution to P.F. = Rs (4,000 x 12) = Rs. 48,000
Total = Rs.(16,000 + 48,000) = Rs. 64,000
Tax rebate = 20% of total savings = 20% of Rs. 64,000
= (20/100) x 64,000 = Rs. 12,800 [Since maximum rebate is Rs. 12,000]
So, rebate is Rs. 12,000
Tax payable = Rs. (22,000 - 12,000)
= Rs. 10,000
Surcharge = Rs. 1000
Total income tax to be paid = Rs. 11,000
Tax paid in 11 months at the rate of Rs. 100 = Rs. (11 x 500)
= Rs. 5,500
So, net income tax payable in the last month = Rs. (11,000 - 5,500) = Rs. 5,500 


